

A note on the congruences with sums of powers of trinomial coefficients

Zhongyan Shen*, Lixia Ye

Department of Mathematics, Zhejiang International Studies University, Hangzhou 310023 China

*Corresponding author, e-mail: huanchenszyan@163.com

Received 18 Aug 2023, Accepted 9 Jun 2025

Available online 15 Jun 2025

ABSTRACT: Trinomial coefficients $\binom{n}{k}_2$ are defined by

$$(1+x+x^2)^n = \sum_{k=0}^{2n} \binom{n}{k}_2 x^k.$$

Let $p > 3$ be a prime number and n, m be positive integers, we obtained the congruences modulo p^2 with partial sums of powers of trinomial coefficients

$$\sum_{0 \leq 3k+i \leq p-1} \binom{np-1}{3k+i}_2^m \text{ and } \sum_{0 \leq 3k+i \leq \frac{p-1}{2}} \binom{np-1}{3k+i}_2^m \quad (0 \leq i \leq 2).$$

We also studied the congruences modulo p^2 with sums of powers of trinomial coefficients

$$\sum_{k=0}^{p-1} \binom{np-1}{k}_2^m \text{ and } \sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2^m.$$

KEYWORDS: trinomial coefficients, sum of powers, congruences

MSC2020: 11A07 11B65

INTRODUCTION

In 1819, Babbage [1] showed the congruence

$$\binom{2p-1}{p-1} \equiv 1 \pmod{p^2}$$

for any odd prime number p . In 1862, Wolstenholme [15] proved the above congruence about modulo p^3

$$\binom{2p-1}{p-1} \equiv 1 \pmod{p^3}$$

and in 1900, Glaisher [9] extended the congruence

$$\binom{np-1}{p-1} \equiv 1 \pmod{p^3}$$

for any prime number $p > 3$ and positive integer n . In 1895, Morley [12] showed that for any prime $p \geq 5$,

$$(-1)^{\frac{p-1}{2}} \binom{p-1}{\frac{p-1}{2}} \equiv 4^{p-1} \pmod{p^3}.$$

And in 1953, Carlitz [5, 6] extended Morley's congruence and showed that, for any prime number $p \geq 5$,

$$(-1)^{\frac{p-1}{2}} \binom{p-1}{\frac{p-1}{2}} \equiv 4^{p-1} + \frac{p^3}{12} \pmod{p^4}.$$

In 2002, Cai and Granville [2] showed several arithmetic properties on the residues of binomial coefficients and their products modulo primes powers, e.g.,

$$\binom{pq-1}{\frac{pq-1}{2}} \equiv \binom{p-1}{\frac{p-1}{2}} \binom{q-1}{\frac{q-1}{2}} \pmod{pq},$$

for any distinct odd primes p and q . They also proved that if $p \geq 5$ is a prime and m is an integer, then

$$\sum_{s=0}^{p-1} \binom{p-1}{s}^m \equiv \begin{cases} 2^{m(p-1)} \pmod{p^3}, & \text{if } 2 \nmid m, \\ \binom{mp-2}{p-1} \pmod{p^4}, & \text{if } 2 \mid m, \end{cases}$$

and

$$\sum_{s=0}^{p-1} (-1)^s \binom{p-1}{s}^m \equiv \begin{cases} 2^{m(p-1)} \pmod{p^3}, & \text{if } 2 \mid m, \\ \binom{mp-2}{p-1} \pmod{p^4}, & \text{if } 2 \nmid m. \end{cases}$$

In 2018, for any prime $p \geq 7$, integer $l \geq 0$ and positive integers k, m , the first author and Cai [13] proved that

$$\sum_{s=lp}^{(l+1)p-1} \binom{kp-1}{s}^m \equiv \begin{cases} \binom{k-1}{l}^m 2^{km(p-1)} \pmod{p^3}, & \text{if } 2 \nmid m, \\ \binom{k-1}{l}^m \binom{km(p-2)}{p-1} \pmod{p^4}, & \text{if } 2 \mid m, \end{cases}$$

and

$$\sum_{s=lp}^{(l+1)p-1} (-1)^s \binom{kp-1}{s}^m \equiv \begin{cases} \binom{k-1}{l}^m 2^{km(p-1)} \pmod{p^3}, & \text{if } 2 \mid m, \\ \binom{k-1}{l}^m \binom{km(p-2)}{p-1} \pmod{p^4}, & \text{if } 2 \nmid m. \end{cases}$$

In 2014, Sun [14] gave some properties and congruences involving the trinomial coefficients $\binom{n}{k}_2$ defined by

$$(1+x+x^2)^n = \sum_{k=0}^{2n} \binom{n}{k}_2 x^k,$$

also see [3, 4]. Recently, for any prime number $p > 3$ and positive integer n , Elkhiri and Mihoubi [10] proved following congruences involving trinomial coefficients

$$\binom{np-1}{p-1}_2 \equiv \begin{cases} 1+npq_3 \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ -1-npq_3 \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}, \end{cases}$$

$$\binom{np-1}{\frac{p-1}{2}}_2 \equiv \begin{cases} 1+np(2q_2+\frac{1}{2}q_3) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{6}, \\ -\frac{np}{2}q_3 \pmod{p^2}, & \text{if } p \equiv 5 \pmod{6}, \end{cases}$$

$$\sum_{k=0}^{p-1} \binom{np-1}{k}_2 \equiv \begin{cases} 1+npq_3 \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ 0 \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}, \end{cases}$$

and

$$\sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2 \equiv \begin{cases} 1+np(\frac{4}{3}q_2+q_3) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{6}, \\ -\frac{2np}{3}q_2 \pmod{p^2}, & \text{if } p \equiv 5 \pmod{6}, \end{cases}$$

where q_a is the Fermat quotient defined for a given prime number $p > 3$ by $q_a = \frac{a^{p-1}-1}{p}$, $\gcd(a, p) = 1$.

The idea of this work is inspired from [10] and [13], generalizing the congruences involving trinomial coefficients

$\sum_{k=0}^{p-1} \binom{np-1}{k}_2$ and $\sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2$ in [10] to the congruences involving higher powers of trinomial coefficients $\sum_{k=0}^{p-1} \binom{np-1}{k}_2^m$ and $\sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2^m$, where m is

a positive integer. Meanwhile, we will also extend the congruences related to binomial coefficients to the congruences related to trinomial coefficients. The paper also considered the congruences with partial

sums of powers of trinomial coefficients $\sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2^m$,

$\sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2^m$, $\sum_{k=0}^{\lfloor \frac{p}{3} \rfloor-1} \binom{np-1}{3k+2}_2^m$ and obtained the following theorems by changing the order of summation and classical congruence calculation methods.

Theorem 1 Let $p > 3$ be a prime number and n, m be positive integers. We have

$$\sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2^m \equiv \begin{cases} \frac{p+2}{3} + mnp(\frac{2}{3}q_3 - \frac{1}{3}) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ \frac{p+1}{3} + mnp(\frac{1}{3}q_3 - \frac{2}{3}) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}, \end{cases}$$

where $[x]$ is the greatest integer not greater than x .

Theorem 2 Let $p > 3$ be a prime number and n, m be positive integers. We have

$$\sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2^m \equiv \begin{cases} (-1)^m \left(\frac{p-1}{3} - mnp(\frac{1}{3}q_3 + \frac{1}{3}) \right) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ (-1)^m \left(\frac{p+1}{3} + mnp(\frac{1}{3}q_3 - \frac{1}{3}) \right) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

Theorem 3 Let $p > 3$ be a prime number and n, m be positive integers. We have

$$\sum_{k=0}^{\lfloor \frac{p}{3} \rfloor-1} \binom{np-1}{3k+2}_2^m \equiv \begin{cases} 0 \pmod{p^2}, & \text{if } m > 1, \\ 0 \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3} \text{ and } m = 1, \\ \frac{np}{3} \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3} \text{ and } m = 1. \end{cases}$$

Theorem 4 Let $p > 3$ be a prime number and n, m be positive integers. We have

$$\sum_{k=0}^{p-1} \binom{np-1}{k}_2^m \equiv \begin{cases} 1+npq_3 \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ 0 \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

When even $m > 1$, we have

$$\sum_{k=0}^{p-1} \binom{np-1}{k}_2^m \equiv \begin{cases} \frac{2p+1}{3} + mnp(\frac{1}{3}q_3 - \frac{2}{3}) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ \frac{2p+2}{3} + mnp(\frac{2}{3}q_3 - 1) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

When odd $m > 1$, we have

$$\sum_{k=0}^{p-1} \binom{np-1}{k}_2 \equiv \begin{cases} 1 + mnpq_3 \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ -\frac{mnp}{3} \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

Theorem 5 Let $p > 3$ be a prime number and n, m be positive integers. We have

$$\sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2 \equiv \begin{cases} 1 + np \left(\frac{4}{3}q_2 + q_3 \right) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ -\frac{2np}{3}q_2 \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

When even $m > 1$, we have

$$\sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2 \equiv \begin{cases} \frac{p+2}{3} + mnp \left(\frac{4}{3}q_2 + \frac{5}{12}q_3 - \frac{1}{3} \right) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ \frac{p+1}{3} + mnp \left(\frac{2}{3}q_2 + \frac{1}{12}q_3 - 1 \right) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

When odd $m > 1$, we have

$$\sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2 \equiv \begin{cases} 1 + mnp \left(\frac{14}{9}q_2 + \frac{3}{4}q_3 \right) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ mnp \left(-\frac{4}{9}q_2 + \frac{1}{4}q_3 \right) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

AUXILIARY RESULTS

Let H_n be the n -th harmonic number defined by

$$H_0 = 0, \quad H_n = \sum_{j=1}^n \frac{1}{j}.$$

Lemma 1 ([7, 8, 11]) Let $p > 3$ be a prime number, we have

$$H_{\left[\frac{p}{3}\right]} \equiv -\frac{3}{2}q_3 \pmod{p}, \\ H_{\left[\frac{p}{6}\right]} \equiv -2q_2 - \frac{3}{2}q_3 \pmod{p}.$$

Lemma 2 ([10]) Let $p > 3$ be a prime number, we have

$$\sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+2} \equiv \begin{cases} 0 \pmod{p}, & \text{if } p \equiv 1 \pmod{3}, \\ \frac{1}{2}q_3 \pmod{p}, & \text{if } p \equiv 2 \pmod{3}. \end{cases} \\ \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+1} \equiv \begin{cases} \frac{1}{2}q_3 \pmod{p}, & \text{if } p \equiv 1 \pmod{3}, \\ 1 \pmod{p}, & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

Lemma 3 ([10]) Let $p > 3$ be a prime number, we have

$$\sum_{j=0}^{\left[\frac{p}{6}\right]} \frac{1}{3j+2} \equiv \begin{cases} -\frac{2}{3}q_2 + \frac{1}{2}q_3 + \frac{2}{3} \pmod{p}, & \text{if } p \equiv 1 \pmod{6}, \\ -\frac{2}{3}q_2 \pmod{p}, & \text{if } p \equiv 5 \pmod{6}. \end{cases}$$

$$\sum_{j=0}^{\left[\frac{p}{6}\right]} \frac{1}{3j+1} \equiv \begin{cases} -\frac{2}{3}q_2 + 2 \pmod{p}, & \text{if } p \equiv 1 \pmod{6}, \\ -\frac{2}{3}q_2 + \frac{1}{2}q_3 \pmod{p}, & \text{if } p \equiv 5 \pmod{6}. \end{cases}$$

Lemma 4 ([10]) Let $p > 3$ be a prime number and $n > 0, k$ be integers. We have

$$\binom{np-1}{3k}_2 \equiv 1 - np \left(\frac{2}{3}H_k + \sum_{j=0}^{k-1} \frac{1}{3j+2} \right) \pmod{p^2}, \quad 1 \leq 3k \leq p-1.$$

$$\binom{np-1}{3k+1}_2 \equiv -1 + np \left(\frac{2}{3}H_k + \sum_{j=0}^k \frac{1}{3j+1} \right) \pmod{p^2}, \quad 1 \leq 3k+1 \leq p-1.$$

$$\binom{np-1}{3k+2}_2 \equiv np \left(\sum_{j=0}^k \frac{1}{3j+2} - \sum_{j=0}^k \frac{1}{3j+1} \right) \pmod{p^2}, \quad 1 \leq 3k+2 \leq p-1.$$

PROOFS

Proof of Theorem 1

Proof: By Lemma 4, we have

$$\sum_{k=0}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2 = 1 + \sum_{k=1}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2 \\ \equiv 1 + \sum_{k=1}^{\left[\frac{p}{3}\right]} \left(1 - mnp \left(\frac{2}{3}H_k + \sum_{j=0}^{k-1} \frac{1}{3j+2} \right) \right) \\ \equiv 1 + \left[\frac{p}{3} \right] - mnp \sum_{k=1}^{\left[\frac{p}{3}\right]} \left(\frac{2}{3}H_k + \sum_{j=0}^{k-1} \frac{1}{3j+2} \right) \pmod{p^2}. \quad (1)$$

Changing the sum order of j and k in (1), we get

$$\sum_{k=0}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2 \\ \equiv 1 + \left[\frac{p}{3} \right] - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p}{3}\right]} \frac{1}{j} \sum_{k=j}^{\left[\frac{p}{3}\right]} 1 + \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+2} \sum_{k=j+1}^{\left[\frac{p}{3}\right]} 1 \right) \\ \equiv 1 + \left[\frac{p}{3} \right] - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p}{3}\right]} \frac{\left[\frac{p}{3} \right] - j + 1}{j} \right. \\ \left. + \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{\left[\frac{p}{3} \right] - j}{3j+2} \right) \pmod{p^2}. \quad (2)$$

For $p \equiv 1 \pmod{3}$ in (2), we have $\left[\frac{p}{3}\right] = \frac{p-1}{3}$, then

$$\begin{aligned} & \sum_{k=0}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2^m \\ & \equiv 1 + \frac{p-1}{3} - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p}{3}\right]} \frac{\frac{p-1}{3} - j + 1}{j} + \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{\frac{p-1}{3} - j}{3j+2} \right) \\ & \equiv \frac{p+2}{3} - mnp \left(\frac{4}{9} H_{\left[\frac{p}{3}\right]} - \frac{2}{3} \left[\frac{p}{3}\right] - \frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{(3j+2)-1}{3j+2} \right) \\ & \equiv \frac{p+2}{3} - mnp \left(\frac{4}{9} H_{\left[\frac{p}{3}\right]} - \left[\frac{p}{3}\right] + \frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+2} \right) \\ & \equiv \frac{p+2}{3} - mnp \left(\frac{4}{9} H_{\left[\frac{p}{3}\right]} + \frac{1}{3} + \frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+2} \right) \pmod{p^2}. \quad (3) \end{aligned}$$

By Lemma 1 and Lemma 2, for $p \equiv 1 \pmod{3}$, (3) is congruent to

$$\sum_{k=0}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2^m \equiv \frac{p+2}{3} + mnp \left(\frac{2}{3} q_3 - \frac{1}{3} \right) \pmod{p^2}. \quad (4)$$

For $p \equiv 2 \pmod{3}$ in (2), we have $\left[\frac{p}{3}\right] = \frac{p-2}{3}$, then

$$\begin{aligned} & \sum_{k=0}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2^m \\ & \equiv 1 + \frac{p-2}{3} - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p}{3}\right]} \frac{\frac{p-2}{3} - j + 1}{j} + \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{\frac{p-2}{3} - j}{3j+2} \right) \\ & \equiv \frac{p+1}{3} - mnp \left(\frac{2}{9} H_{\left[\frac{p}{3}\right]} - \frac{2}{3} \left[\frac{p}{3}\right] - \frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{3j+2}{3j+2} \right) \\ & \equiv \frac{p+1}{3} - mnp \left(\frac{2}{9} H_{\left[\frac{p}{3}\right]} - \frac{2}{3} \left[\frac{p}{3}\right] - \frac{1}{3} \left[\frac{p}{3}\right] \right) \\ & \equiv \frac{p+1}{3} - mnp \left(\frac{2}{9} H_{\left[\frac{p}{3}\right]} + \frac{2}{3} \right) \pmod{p^2}. \quad (5) \end{aligned}$$

By Lemma 1, for $p \equiv 2 \pmod{3}$, (5) is congruent to

$$\sum_{k=0}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2^m \equiv \frac{p+1}{3} + mnp \left(\frac{1}{3} q_3 - \frac{2}{3} \right) \pmod{p^2}. \quad (6)$$

Combining (4) and (6), we obtain Theorem 1. $\square$

Proof of Theorem 2

Proof: By Lemma 4, we have

$$\begin{aligned} & \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \binom{np-1}{3k+1}_2^m \equiv (-1)^m \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \left(1 \right. \\ & \quad \left. - mnp \left(\frac{2}{3} H_k + \sum_{j=0}^k \frac{1}{3j+1} \right) \right) \pmod{p^2}. \quad (7) \end{aligned}$$

Changing the sum order of j and k in (7), we get

$$\begin{aligned} & \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \binom{np-1}{3k+1}_2^m \equiv (-1)^m \left(\left[\frac{p-2}{3} \right] + 1 \right. \\ & \quad \left. - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p-2}{3}\right]} \frac{1}{j} \sum_{k=j}^{\left[\frac{p-2}{3}\right]} 1 + \sum_{j=0}^{\left[\frac{p-2}{3}\right]} \frac{1}{3j+1} \sum_{k=j}^{\left[\frac{p-2}{3}\right]} 1 \right) \right) \\ & \equiv (-1)^m \left(\left[\frac{p-2}{3} \right] + 1 - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p-2}{3}\right]} \frac{\left[\frac{p-2}{3}\right] - j + 1}{j} \right. \right. \\ & \quad \left. \left. + \sum_{j=0}^{\left[\frac{p-2}{3}\right]} \frac{\left[\frac{p-2}{3}\right] - j + 1}{3j+1} \right) \right) \pmod{p^2}. \quad (8) \end{aligned}$$

For $p \equiv 1 \pmod{3}$ in (8), we have $\left[\frac{p-2}{3}\right] = \frac{p-4}{3}$, then

$$\begin{aligned} & \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \binom{np-1}{3k+1}_2^m \\ & \equiv (-1)^m \left(\frac{p-1}{3} - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p-2}{3}\right]} \frac{\frac{p-1}{3} - j}{j} + \sum_{j=0}^{\left[\frac{p-2}{3}\right]} \frac{\frac{p-1}{3} - j}{3j+1} \right) \right) \\ & \equiv (-1)^m \left(\frac{p-1}{3} - mnp \left(-\frac{2}{9} H_{\left[\frac{p-2}{3}\right]} - \frac{2}{3} \left[\frac{p-2}{3}\right] - \frac{1}{3} \sum_{j=0}^{\left[\frac{p-2}{3}\right]} \frac{3j+1}{3j+1} \right) \right) \\ & \equiv (-1)^m \left(\frac{p-1}{3} - mnp \left(-\frac{2}{9} (H_{\left[\frac{p}{3}\right]} - \frac{3}{p-1}) \right. \right. \\ & \quad \left. \left. - \frac{2}{3} \left[\frac{p-2}{3}\right] - \frac{1}{3} \left(\left[\frac{p-2}{3}\right] + 1 \right) \right) \right) \\ & \equiv (-1)^m \left(\frac{p-1}{3} - mnp \left(-\frac{2}{9} H_{\left[\frac{p}{3}\right]} + \frac{1}{3} \right) \right) \pmod{p^2}. \quad (9) \end{aligned}$$

By Lemma 1, for $p \equiv 1 \pmod{3}$, (9) is congruent to

$$\begin{aligned} & \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \binom{np-1}{3k+1}_2^m \equiv (-1)^m \left(\frac{p-1}{3} \right. \\ & \quad \left. - mnp \left(\frac{1}{3} q_3 + \frac{1}{3} \right) \right) \pmod{p^2}. \quad (10) \end{aligned}$$

For $p \equiv 2 \pmod{3}$ in (8), we have $\left[\frac{p-2}{3}\right] = \frac{p-2}{3}$, then

$$\begin{aligned}
 & \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \binom{np-1}{3k+1}_2 \\
 & \equiv (-1)^m \left(\frac{p+1}{3} - mnp \left(\frac{2}{3} \sum_{j=1}^{\left[\frac{p-2}{3}\right]} \frac{p+1-j}{j} + \sum_{j=0}^{\left[\frac{p-2}{3}\right]} \frac{p+1-j}{3j+1} \right) \right) \\
 & \equiv (-1)^m \left(\frac{p+1}{3} - mnp \left(\frac{2}{9} H_{\left[\frac{p-2}{3}\right]} - \frac{2}{3} \left[\frac{p-2}{3} \right] \right. \right. \\
 & \quad \left. \left. - \frac{1}{3} \sum_{j=0}^{\left[\frac{p-2}{3}\right]} \frac{(3j+1)-2}{3j+1} \right) \right) \\
 & \equiv (-1)^m \left(\frac{p+1}{3} - mnp \left(\frac{2}{9} H_{\left[\frac{p-2}{3}\right]} - \frac{2}{3} \left[\frac{p-2}{3} \right] \right. \right. \\
 & \quad \left. \left. - \frac{1}{3} \left(\left[\frac{p-2}{3} \right] + 1 \right) + \frac{2}{3} \sum_{j=0}^{\left[\frac{p-2}{3}\right]} \frac{1}{3j+1} \right) \right) \\
 & \equiv (-1)^m \left(\frac{p+1}{3} - mnp \left(\frac{2}{9} H_{\left[\frac{p-2}{3}\right]} + \frac{1}{3} \right. \right. \\
 & \quad \left. \left. + \frac{2}{3} \sum_{j=0}^{\left[\frac{p-2}{3}\right]-1} \frac{1}{3j+1} - \frac{2}{3} \right) \right) \pmod{p^2}. \quad (11)
 \end{aligned}$$

By Lemma 1 and Lemma 2, for $p \equiv 2 \pmod{3}$, (11) is congruent to

$$\begin{aligned}
 & \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \binom{np-1}{3k+1}_2 \equiv \\
 & (-1)^m \left(\frac{p+1}{3} + mnp \left(\frac{1}{3} q_3 - \frac{1}{3} \right) \right) \pmod{p^2}. \quad (12)
 \end{aligned}$$

Combining (10) and (12), we obtain Theorem 2. $\square$

Proof of Theorem 3

Proof: By Lemma 4, if $m > 1$, we obtain

$$\sum_{k=0}^{\left[\frac{p}{3}\right]-1} \binom{np-1}{3k+2}_2 \equiv 0 \pmod{p^2}. \quad (13)$$

By Lemma 4, if $m = 1$, changing the sum order of j and k , we obtain

$$\begin{aligned}
 & \sum_{k=0}^{\left[\frac{p}{3}\right]-1} \binom{np-1}{3k+2}_2 \equiv \sum_{k=0}^{\left[\frac{p}{3}\right]-1} np \left(\sum_{j=0}^k \frac{1}{3j+2} - \sum_{j=0}^k \frac{1}{3j+1} \right) \\
 & \equiv np \left(\sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+2} \sum_{k=j}^{\left[\frac{p}{3}\right]-1} 1 - \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+1} \sum_{k=j}^{\left[\frac{p}{3}\right]-1} 1 \right) \\
 & \equiv np \left(\sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{\left[\frac{p}{3}\right]-j}{3j+2} - \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{\left[\frac{p}{3}\right]-j}{3j+1} \right) \pmod{p^2}. \quad (14)
 \end{aligned}$$

For $p \equiv 1 \pmod{3}$ in (14), we have $\left[\frac{p}{3}\right] = \frac{p-1}{3}$, then

$$\begin{aligned}
 & \sum_{k=0}^{\left[\frac{p}{3}\right]-1} \binom{np-1}{3k+2}_2 \equiv np \left(\sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{p-1-j}{3j+2} - \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{p-1-j}{3j+1} \right) \\
 & \equiv np \left(\frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1+3j}{3j+1} - \frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{(2+3j)-1}{3j+2} \right) \\
 & \equiv \frac{np}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+2} \pmod{p^2}. \quad (15)
 \end{aligned}$$

By Lemma 2, for $p \equiv 1 \pmod{3}$, (15) is congruent to

$$\sum_{k=0}^{\left[\frac{p}{3}\right]-1} \binom{np-1}{3k+2}_2 \equiv 0 \pmod{p^2}. \quad (16)$$

For $p \equiv 2 \pmod{3}$ in (14), we have $\left[\frac{p}{3}\right] = \frac{p-2}{3}$, then

$$\begin{aligned}
 & \sum_{k=0}^{\left[\frac{p}{3}\right]-1} \binom{np-1}{3k+2}_2 \equiv np \left(\sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{p-2-j}{3j+2} - \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{p-2-j}{3j+1} \right) \\
 & \equiv np \left(\frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1+3j+1}{3j+1} - \frac{1}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{2+3j}{3j+2} \right) \\
 & \equiv \frac{np}{3} \sum_{j=0}^{\left[\frac{p}{3}\right]-1} \frac{1}{3j+1} \pmod{p^2}. \quad (17)
 \end{aligned}$$

By Lemma 2, for $p \equiv 2 \pmod{3}$, (17) is congruent to

$$\sum_{k=0}^{\left[\frac{p}{3}\right]-1} \binom{np-1}{3k+2}_2 \equiv \frac{np}{3} \pmod{p^2}. \quad (18)$$

Combining (16) and (18), we obtain Theorem 3. $\square$

Proof of Theorem 4

Proof: By Theorem 1–Theorem 3, when $m = 1$ and $p \equiv 1 \pmod{3}$, we obtain

$$\begin{aligned}
 & \sum_{k=0}^{p-1} \binom{np-1}{k}_2 \\
 & = \sum_{k=0}^{\left[\frac{p}{3}\right]} \binom{np-1}{3k}_2 + \sum_{k=0}^{\left[\frac{p-2}{3}\right]} \binom{np-1}{3k+1}_2 + \sum_{k=0}^{\left[\frac{p}{3}\right]-1} \binom{np-1}{3k+2}_2 \\
 & \equiv \frac{p+2}{3} + np \left(\frac{2}{3} q_3 - \frac{1}{3} \right) - \frac{p-1}{3} + np \left(\frac{1}{3} q_3 + \frac{1}{3} \right) \\
 & \equiv 1 + npq_3 \pmod{p^2}. \quad (19)
 \end{aligned}$$

By Theorem 1–Theorem 3, when $m = 1$ and $p \equiv 2 \pmod{3}$, we obtain

$$\begin{aligned} \sum_{k=0}^{p-1} \binom{np-1}{k}_2 &= \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2 + \sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2 + \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor - 1} \binom{np-1}{3k+2}_2 \\ &\equiv \frac{p+1}{3} + np \left(\frac{1}{3} q_3 - \frac{2}{3} \right) - \frac{p+1}{3} - np \left(\frac{1}{3} q_3 - \frac{1}{3} \right) + \frac{np}{3} \\ &\equiv 0 \pmod{p^2}. \quad (20) \end{aligned}$$

The (19) and (20) has been proved in [10]. By Theorem 1–Theorem 3, when $m > 1$ and $p \equiv 1 \pmod{3}$, we obtain

$$\begin{aligned} \sum_{k=0}^{p-1} \binom{np-1}{k}_2 &= \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2 + \sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2 + \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor - 1} \binom{np-1}{3k+2}_2 \\ &\equiv \frac{p+2}{3} + mnp \left(\frac{2}{3} q_3 - \frac{1}{3} \right) + (-1)^m \left(\frac{p-1}{3} - mnp \left(\frac{1}{3} q_3 + \frac{1}{3} \right) \right) \\ &\equiv \frac{((-1)^m + 1)p + 2 - (-1)^m}{3} \\ &\quad + mnp \left(\frac{2 - (-1)^m}{3} q_3 - \frac{1 + (-1)^m}{3} \right) \pmod{p^2}. \quad (21) \end{aligned}$$

By Theorem 1–Theorem 3, when $m > 1$ and $p \equiv 2 \pmod{3}$, we obtain

$$\begin{aligned} \sum_{k=0}^{p-1} \binom{np-1}{k}_2 &= \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2 + \sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2 + \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor - 1} \binom{np-1}{3k+2}_2 \\ &\equiv \frac{p+1}{3} + mnp \left(\frac{1}{3} q_3 - \frac{2}{3} \right) + (-1)^m \left(\frac{p+1}{3} + mnp \left(\frac{1}{3} q_3 - \frac{1}{3} \right) \right) \\ &\equiv \frac{((-1)^m + 1)(p+1)}{3} \\ &\quad + mnp \left(\frac{1 + (-1)^m}{3} q_3 - \frac{2 + (-1)^m}{3} \right) \pmod{p^2}. \quad (22) \end{aligned}$$

Combining (19)–(22), we obtain Theorem 4. $\square$

Proof of Theorem 5

Proof:

$$\begin{aligned} \sum_{k=0}^{\frac{p-1}{2}} \binom{np-1}{k}_2 &= \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2 + \\ &\quad \sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2 + \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor - 1} \binom{np-1}{3k+2}_2 \pmod{p^2}. \end{aligned}$$

By Lemma 4, Lemma 1 and Lemma 3, similar to the proof of Theorem 1, we obtain that

$$\begin{aligned} \sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2 &\equiv \begin{cases} \frac{p+5}{6} + mnp \left(\frac{13}{9} q_2 + \frac{7}{12} q_3 - \frac{1}{6} \right) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ \frac{p+1}{6} + mnp \left(\frac{1}{9} q_2 + \frac{1}{6} q_3 - \frac{1}{2} \right) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases} \end{aligned}$$

By Lemma 4, Lemma 1 and Lemma 3, similar to the proof of Theorem 2, we obtain that

$$\begin{aligned} \sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2 &\equiv \begin{cases} (-1)^m \left(\frac{p-1}{6} - mnp \left(\frac{1}{9} q_2 + \frac{1}{6} q_3 + \frac{1}{6} \right) \right) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3}, \\ (-1)^m \left(\frac{p+1}{6} + mnp \left(\frac{5}{9} q_2 - \frac{1}{12} q_3 - \frac{1}{2} \right) \right) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3}. \end{cases} \end{aligned}$$

By Lemma 4, Lemma 1 and Lemma 3, similar to the proof of Theorem 3, we obtain that

$$\sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+2}_2 \equiv \begin{cases} 0 \pmod{p^2}, & \text{if } m > 1, \\ -np \left(\frac{2}{9} q_2 - \frac{1}{4} q_3 \right) \pmod{p^2}, & \text{if } p \equiv 1 \pmod{3} \text{ and } m = 1, \\ -np \left(\frac{2}{9} q_2 + \frac{1}{4} q_3 \right) \pmod{p^2}, & \text{if } p \equiv 2 \pmod{3} \text{ and } m = 1. \end{cases}$$

Then, similar to the proof of Theorem 4, we obtain Theorem 5. $\square$

CONCLUSION

As far as we know, changing the summation order can be considered in multiple summations when the result cannot be directly calculated through a formula or when changing the summation order can help simplify the calculation. In this paper, we have successfully established the congruences with partial sums of powers of trinomial coefficients by changing the order of summation and classical congruence calculation methods. We have extended the results of the congruences of binomial coefficients to the results of the congruences of trinomial coefficients, and the congruences of the

partial summation of trinomial coefficients $\sum_{k=0}^{\lfloor \frac{p}{3} \rfloor} \binom{np-1}{3k}_2$,

$\sum_{k=0}^{\lfloor \frac{p-2}{3} \rfloor} \binom{np-1}{3k+1}_2$ and $\sum_{k=0}^{\lfloor \frac{p}{3} \rfloor - 1} \binom{np-1}{3k+2}_2$, also indicate that their distribution is not evenly distributed.

Acknowledgements: This work is supported by the National Natural Science Foundation of China (Project No. 12071421). The authors also would like to thank the referees for constructive suggestions and careful reading of the manuscript.

REFERENCES

1. Babbage C (1819) Demonstration of a theorem relating to prime numbers. *Edinb Philos J* **1**, 46–49.
2. Cai TX, Granville A (2002) On the residues of binomial coefficients and their products modulo primes powers. *Acta Math Sinica* **18**, 277–288.
3. Cao HQ, Pan H (2014) Some congruences for trinomial coefficients. *Houston J Math* **40**, 1073–1087.
4. Cao HQ, Sun ZW (2015) Some congruences involving binomial coefficients. *Colloq Math* **139**, 127–136.
5. Carlitz L (1953) A theorem of Glaisher. *Canadian J Math* **5**, 306–316.
6. Carlitz L (1953) Note on a theorem of Glaisher. *J London Math Soc* **28**, 245–246.
7. Eisenstein FGM (1850) Eine neue Gattung zahlentheoretischer Funktionen, welche von zwei Elementen abhängen und durch gewisse lineare Funktional-Gleichungen definirt werden. *Berichte Knigl Preuss Akad Wiss Berlin* **15**, 36–42.
8. Glaisher JWL (1900) On the residues of the sums of products of the first $p - 1$ numbers and their powers to modulus p^2 or p^3 . *Quart J Pure Appl Math* **31**, 321–353.
9. Glaisher JWL (1900) Congruences relating to the sums of products of the first n numbers and to other sums of products. *Quart J Pure Appl Math* **31**, 1–35.
10. Elkhiri L, Mihoubi M (2019) Super-congruences involving trinomial coefficients. *Arxiv:1910.09262v1*.
11. Lerch M (1905) Zur theorie des Fermatschen quotienten. *Math Ann* **60**, 471–490.
12. Morley F (1895) Note on the congruence $2^{4n} \equiv (-1)^n(2n)!/(n!)^2$, where $2n + 1$ is a prime. *Ann Math* **9**, 168–170.
13. Cai TX, Shen ZY (2018) A note on the congruences with sums of powers of binomial coefficients. *Funct Approx Comment Math* **58**, 221–232.
14. Sun ZW (2014) Congruences involving generalized central trinomial coefficients. *Sci China Math* **57**, 1375–1400.
15. Wolstenholme J (1862) On certain properties of prime numbers. *Quart J Pure Appl Math* **5**, 35–39.